Pro Bauteam / Styro-Table-Cutter
Item-No.: 10349

WO Code Description Ty
2000052 | netal washer 6xldzl.5 i]

2 [2000848 | slider 1
3 [2000261 | hexagonal bolt m8x50 2
£ 12000636 | 4040 section bar plug 2
5 (2000680 [ Slider not W8 4
& 2000084 | netal washer BxlTxl.5 3
7 (2000029 | spring washerfal0xl, 5 6

2000639

[

w

2000645

B0 whieel

Lo

2000633

4040 section bar

L1

2000027

Flat cup bolt M6X25

12

Wi%10 Finger screw

13

2000160

Narrow rivel nuts 629x14

14

2000640

Plum bolt nBxll

Code

Description QY |15

2000641

Five-star bolt m8x20

2000682

vellow ruler 610mm 2 |18

Power box zet

2000118

12 6 (17

2002488

Tersion zpring 9, Mdh%], 2

2001031

Buckle cork 12
Woodwarking zerew 3, 512 s |18

W8 Butterfly nut

2000363 | M8 spring washer 1|19 2000638 | 4080 section bar 1
2000800 [ brush 1 |20 [RO00B4E | o e borminal 1

manual 1 |71

2001012

parel

3

2000761

hot, wire Q. 5%1430m 1 |22

2000824

folding stand

23

2001013

2523 square tube

24

2001014

40120 angle aluminum

27

hesaganal bolt mfxd0

25 [2000630 | Slide pad pipe 1
26 [2000072 | yide-edae Tivet nuts Gudxl5. 5 2
2000051 ]

2B

2000114

Flat cup bolt MEX 35

28

2000011

netal washer fxlfxl.5

b2 | b3

30

20015997

Hollew wranch M6

3l

2000058

2525 square tube plug

[ ]

3z

2000647

guide halder

33

Finger screw Mdad

34

Foot switch set

Pro Bauteam

Styro-Table-Cutter

Item-No.: 10349

info@probauteam.de / www.probauteam.com




